						Existing								New				Program Ch	ange	Adjustment		Remains with	RD
Description	Control Number	Form Number	Regulation	No. of Respond.	No. of Reports Filed Per Respond	Total Annual	Average Response Time	Total Burden Hours	Control Number	e-Gov Instr Drafted	Form Number	Regulation	No. of Respond.	No. of Reports Filed Per Respon	Total Annual Responses	Average Response Time	Total Burden Hours	Regulatory Change	Previously Unapproved Collection		Number of Respondt's	Respondt's	Hours
Bill of Sale		455-11	1962.42	0	C	0	0	0	764		2070	766.354(a) (4)767.155	250	1	250	0.25	63	63					
DSA Addendum to Note (Typo in existing hours.)	0560- 0164	1951-T Ex.	1951.957	800	1	. 800	0.25	400	766		2501	766.57	1408	1	1408	0.25	352				-48		
Ackowledge. Of Program Availability - Delinquent Borrower	0560- 0161	Ex. A Att 2	1951.907(e)(5)	7369	1	. 7369	0.33	2432	766		2511	766.102(a)(1) 766.110(a)(3) 766.204(b) 766.302	2,396	1	2,396	0.5	1,198			407	-1641		
Ackowledge. Of Program Availability - Financially Distressed (existing hours included with delelinquent borrowers.)		Ex. A Att 2	1951.907(e)(5)						766		2513	766.101(a) (5)766.102(a) (1) 766.110(a) (2) 766.204(b) 766.302	1,803	1	1,803	0.5	902			307	595		
Resp. to Notice of Intent to Accelerate	0560- 0161	Ex A Att 4	1951.907(e)(5)	1100	1	. 1100	0.33	363	766		2515	766.102(a)(1) 766.302	124	1	124	0.5	62			21	-322		
Acceptance of Offer to Restructure and select w/wo WD	0560- 0161	Ex F Att 2	1951.909(f)(1)	22	1	. 22	. 0.5	11	766		2518	766.106(b)(1) (i) 766.111(b) (1)	1,520	1	1,520	0.5	760				749		
Acceptance of Offer to Restructure	0560- 0161	Ex B Att 1	1951 Exhibit B	875	1	. 875	0.5	438	766		2520	766.106(a)(1) (i)	697	1	697	0.5	349				-89		

	Ī					Existing								New				Program Ch	nange	Adjustment		Remains with	RD
	<u> </u>					2,000119													1	. ajastinont			
Description	Control Number	Form Number	Regulation	No. of Respond.	No. of Reports Filed Per Respond	Total Annual Responses	Average Response Time	Total Burden Hours	Control Number	e-Gov Instr Drafted	Form Number	Regulation	No. of Respond.	No. of Reports Filed Per Respon	Total Annual Responses	Average Response Time	Total Burden Hours	Regulatory Change	Previously Unapproved Collection	Response Time	Number of Respondt's	Respondt's	Hours
Resp. to Notice of Intent to Accelerate (includes response to buyout)	0560- 0161	Ex A Att 6A	1951.909(h)(3)	1445	1	1445	1	1445	766		2522	766.113(b)	133	1	133	1	133				-1312		
Financially distressed borrower response to denial of servicing request			1951.908(c)(3)	0	0	0	0	0	766		2524	766.106(a)(2)	273	1	273	1	273		273	3			
Resp. to Notice of Intent to Accelerate	0560- 0161	Ex A Att 10A	1951.909(h)(1)	1445	1	1445	0.13	188	766		2526	766.355	418	1	418	0.17	71			17	-134		
Req. for Meeting of Cred/Neg of Appraisal	0560- 0161	Ex E Att 2	1951.909(h)(1)	45	1	45	0.17	8	766		2529	766.115(a)(3)	0	0	0	0	0	-8-	}				
Appraisal Agreement	0560- 0161	Ex F, Att.3	1951.909(h)(4)	100	1	100	0.5	50	766		2529		4	1	4	0.5	2				-48		
Conservation Contract	0560- 0161	1951-39	1951.909(h)(2)	75	1	75	2	150	766		2535	766.110(j)	86	1	86	1	86			-75	11		
Withdrawal of request in Resp. to Notice for Homestead Protection	0560- 0161	Ex K Att 1	1951.909(h)(2)	50	1	50	0.08	4	766		2538	766.151(a)(1)	6	1	6	0.08	1				-3		
Homestead Protection Agreement	0560- 0161	Ex L	1951.911(a)(2)	49	1	49	0.25	12	766		2539	766.154(a)(1)	1	1	1	0.25	1				-11		
Shared Appreciation Agreement	0560- 0161	Ex D	1951.909(e)(4)	65	1	65	0.33	21	766		2543	766.111(b)(4) 766.201(a)	54	1	54	0.33	18				-3		

						Existing			1					New				Program Ch	ange	Adjustment		Remains with	RD
						_,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,												. rogram on	90	. ajaoanone		. tomano wa	
Description	Control Number	Form Number	Regulation	No. of Respond.	No. of Reports Filed Per Respond	Total Annual Responses	Average Response Time	Total Burden Hours	Control Number	e-Gov Instr Drafted	Form Number	Regulation	No. of Respond.	No. of Reports Filed Per Respon	Total Annual Responses	Average Response Time	Total Burden Hours	Regulatory Change	Previously Unapproved Collection	Response Time	Number of Respondt's	Respondt's	Hours
Warranty Deed (ind 11, joint tenant -12))	0575- 0147	1927-11 1927-12	1927.57(a)	6651	1	6651	0.25	1663	766		2569	766.353(a)(4)	13	1	. 13	0.25	5 3				-1660	0	0
Offer to Convey Security RE/Chattels	0575- 0172	1955-1	1951.911(b)(2) 1955.10(d) 1955.20(b)		1		0.25	6	766			766.353(a)(1) includes VC w/homestead protection 766.152(a)(4) 766.354(a)(1)	13	1	13	0.25	3				-3	37	10
Agreement for Sale by Borrower / Agreement for Voluntary Liquidation of Chattel Security - borrower	N/A	455-3 455-4		0	0	0	0	0				766.353(b) 766.351(c)(2) 766.352(a)(2)	165	1	165		. 165		165				
Agreement for Sale by Borrower / Agreement for Voluntary Liquidation of Chattel Security - lender	N/A	455-3 455-4							766			766.353(b)	495	1	495	0.25	124		124				
Agreement of Secured Parties of Sale of Security Property	N/A	455-5		0	0	0	0	0	766		2572	766.357	15	1	15	0.25	5 4		4				
Lease of Property Beginning Farmer	0560- 0251	1955-20	1955.66	15	1	15	0.25	4	766		2591	767.101(a)(1) & (2)	3	1	. 3	0.25	5 1				-3		

						Existing			1					New				Program	Change	Adjustment		Remains with	RD
Description	Control Number	Form Number	Regulation	No. of Respond.	Filed Per	Total Annual	Average Response Time	Total Burden Hours	Control Number	e-Gov Instr Drafted	Form Number	Regulation	No. of Respond.	No. of Reports Filed Pe Respon	Total Annual Respons	Average Respons Time	Total se Burden Hours	Regulatory Change	Previously		Number of Respondt's	Respondt's	Hours
Lease of Property Homestead Protection	0560- 0251	1955-20	1951.911	5	1	5	0.25	1	766		2591	766.154(b)(4)	15	;	1	15 0	.25	4			3		
Addendum for Softwood Timber Def.	0560- 0161	Ex G	1951.909(e)(3)	10	1	10	0.08	8	N/A	N/A	obsolete	N/A	0		0	0	0	0	-8				
Request for Softwood Timber Deferral	0560- 0161	written	1951.909(e)(3)	10	1	10	0.5	5	N/A	N/A	obsolete	N/A	0		0	0	0	0	-5				
additional information necessary to make DSA eligibility determination				0	0	0	0	0	766			766.54(b)(2)	42	!	1	42 0	.25	11	1	L			
Written Request for DSA (Reduced time as forms are counted elsewhere. Typo in existing hours.)	0560- 0164	written	1951.953	800	1	800	2.25	1,600	766			766.54(a)	1408		1 14	08 0	.25 3	52		-1400	152		
tribe's acceptance of borrower request				0	0	0	0	0				766.356(b)(1) (i)	<10	N/A	N/A	N/A	N/A						
American Indian borrower request tribe/sec. of interior be assigned loan				0	0	0	0	0				766.356(b)(1) 766.356(b)(2)	<10	N/A	N/A	N/A	N/A						
assignment of leases for voluntary conveyance				0		0	0	0				766.353(a)(6)	<10	N/A	N/A	N/A	N/A						
approval of resolution by enity for voluntary conveyance - RE & chattel				0	0	0	0	0				766.353(a)(5) 766.354(a)(5)	3	N/A	N/A	N/A	N/A						
Refute Finding of Unauthor. Assistance	0560- 0160	written	1951.557(a)(3)	200	1	200	4	800	766			766.251(b)	100		1 1	00	4 4	00			-400		

						Existing								New				Program Ch	nange	Adjustment		Remains with	RD
														<u> </u>				9	J-	geenerit		3	
Description	Control Number	Form Number	Regulation	No. of Respond.	Filed Per	Total Annual Responses	Average Response Time	Total Burden Hours	Control Number	e-Gov Instr Drafted	Form Number	Regulation	No. of Respond.	No. of Reports Filed Per Respon	Total Annual Response	Average Response Time	Total Burden Hours	Regulatory Change	Previously Unapproved Collection	Response Time	Number of Respondt's	Respondt's	Hours
Consideration of Cap. Improv. (including Tax Returns)	0560- 0161	written	1951.914(c)(1)	365	1	365	1	365	766			766.202(a)(1) & (3)	54	1	. 5	4 0.	5 27	,		-27	-311		
Select appraiser for HP			1951.911(b) (6), (7)	0	0	0	0	0	766			766.154(e)	33	1	. 3	3 0.1	7 6	i	6				
request to exercise option to purchase HP			1951.911(b)(7) (ii)	0	0	0	0	0	766			766.154(c)(1)	10	1	. 1	0 0.25	5 3	3	3				
updated info for HP application - pre-acquisition and post-acquisition	0560- 0161		1951.911(a)(2)	50	1	50	0.25	13	766			766.151(a)(3) 766.151(b)(3)	23	1	. 2	3 0.33	3 8	3		2	-7		
Independent Appraisal - obtaining and selection				0	0	0	0	0	766			766.115(a)(2)	11	1	. 1	1 0.5	5 6	5	6				
Technical appraisal review w/ appeal				0	0	0	0	0	766			766.115(a)(1)	5	1	-	5 0.	5 N/A		N/A				
Select conservation contract term			1951		0	0	0	0	766			766.110(d)	86	1	. 8	6 0.	5 43	3	43				
divorce decree & evidence of conveyance for PLS request	0560- 0161	written	1951.909(a)(2)	225	1	225	0.5	113	766			766.102(f)(2) & (3)	10	1	. 1	0.0	5 5	;			-108		
Aerial Photo for Conservation Contract	0560- 0161	written	1951.909(h)(2)	75	1	75	2	150	766			766.102(b)	92	1	. 9	2 0.33	30)		-125	5		
Spouse agreement to comply with rights, agreement or lease for HP			1951.911(b)(4)	0	0	0	0	0				766.153	<10										
Travel Time	0560- 0161			2715	2	5430	1	5430	766			766									-5430		

						Existing								New				Program Ch	ange	Adjustment		Remains with	RD
Description	Control Numbe	Form Number	Doguđatica	No. of			Average Response Time	Total Burden	Control Number	e-Gov Instr	Form	Dogwlation	No. of Respond.	No. of Reports Filed Per	Total Annual	Average Response Time	Total Burden Hours		Previously Unapproved Collection		Number of Respondt's	Dagagalda	Haura
Description	Numbe	Number	Regulation	Respona.	Respond	Responses	Time	Hours	Number	Drafted	Number	Regulation	Respond.	Respon	Response	es Time			Collection	Time		Respondt's	Hours
Travel Time																	3725				3725		
Totals								15680									9191	42	635	-873	-6293	37	'
																							—
																							
																							
																							<u> </u>
		1						1														1	
		+																					
		+																					
		+																		1		1	\vdash
		+																					
		+					1			-										1		 	+
		+					-													1		1	+
		+												1						-			

					Existing								New			Program Cha	ange	Adjustment		Remains with	RD
Description	Form Number	Regulation	No. of	No. of Reports Filed Per Respond	Total Annual Responses	Average Response Time	Total Burden Hours	Control Number	e-Gov Instr Drafted	Form Number	Regulation	No. of	No. of Reports Filed Per Respon	Total Annual Responses	Total Burden Hours	Regulatory Change	Previously Unapproved Collection	Response Time	Number of Respondt's	Respondt's	Hours